<t

GMT GLOBAL INC.

(ubisep malos Buipesay) sabels Buliesq |jeq Jeaul

(Feeding screw design)

Linear ball bearing stages © X-axis and XY-axis © Stainless steel

Linear ball bearing stages(Feeding screw design) | 100*100

Linear ball bearing stages © X-axis and XY-axis © Stainless steel

(Feeding screw design)

GMT GLOBAL INC.

MX100-SC-28

MX100-SS-28

Linear ball bearing stages(Feeding screw design) | 100*100

MY100-SC-28 MY100-SS-28
-
o
o
*
—_—
o
o
Specification Unite
Movement . Allowable ’
Model no. Ei;l: Axis Esei‘taign I{;\g per knob St:g}::ss Loading W(i'g)ht Material S::ias?]e
P rotation v (kgf) e
MX100-SC-28 Central
c X-axis 35 1.33
s MX100-55-28 Side Electroless
= 100*100 +12.5 0.5mm 3um SUS 440C nickel
g MY100-SC-28 Central plating
£ XY-axis 33.6 266
= MY100-SS-28 Side
o
g
H
H
129

[
5
[0}
QL
MX100-SC-28 MX100-SS-28 o
D
45 45 =
45 45 $35 $3.5
. - U
35 35 @ 4HT*3L 55 & ‘ QEIRZELL o
25 | 25 12-M4x0.7 3
25 | 25 12-M4x0.7 QL
- - ‘ 4-M4x0.7*8L =
‘ 4-M4x0.7*8L m —_ =)
| 0E @
! . Kt 23
¥ D @ wn m
e n| <
N 5 <0° | 87 %
= ) e —
R s < N 0
o8N | ° = e e @ “ Q] ;ID-I
< @ @ @ © e CD
o ° . o
o a Q.
Uit =
0100 PS1RC-25 S ”
Q
S S = :
\ {190 ] | :[ 3 o
0| [0
Z @,
4-¢5 (]
90 $8*10.8L =
| =
-_—
o
o o o
g 0 N
. . S
MY 100-SC-28 MY100-SS-28 o
45 45 ?35
35 35 ‘ D4HT*3L
25 | 25 ‘ 12-M4x0.7 MX(Y)100-S-28 ?3.5
I ) L
4-M4x0.7°8L Mounting dimensions D 4H7
- —-ml/ ‘ Va0 A5 g 12-M4x0.7
4-M4x0.7*8L
SRIRE / 4-M4x0.7*8L
ys
fe} @ i
N8| w0
N 0
© @ el &
7o) - N
o8& o
© (=3 =3
3 . i R
o 3 ° L) & ] <
N
0100 0100
PS1RC-25 = o e riess PS1RC-25 €
Gl = o SNX00000K O O MadeinTawon 8
Q= S ‘ ©0 e
\4} 5 51O 55 g
| m.[ | (147.25 ) | m[ <
o) < g
o
z
E
s
130




